L SCIENCE UG

Instructions: Time 2.5 Hours
* 15" is cool off time Total Mark 80

* Read the questions and instructions carefully before writing
the answers
*While answering the questions, consider score and time
1- John Locke 1score
2- Isobars 1score
3- The Central Vigilance Commission  1score
4- Each country in the world considers the longitude that
passes almost through its middle as the standard meridian.
The local time at the standard meridian is the standard time of
that country.
The 8212° E longitude 2score

5- To ensure integrated development of children upto 6 years

To provide healthcare for pregnant and lactating women

2score
6- In the permanent land revenue settlement the tax was
collected by zamindars. 2Score — 2points

Zamindar was the owner of the entire land system. In this
where he had the jurisdiction to collect tax.

While the zamindars became the owners of the land, the
actual farmers became tenants.

Farmers were to pay up to 60% of the yield as tax.

The tax was to be paid in cash strictly before the cut-off date.
(Before introducing this system, tax could be paid in kind).
7- Dadabai Naoroji - '"Poverty and UnBritish rule in India'

2score
8- Cheap labour, Availability of raw materials, Low cost
involved in manufacturing and selling goods in colonies
2Score — 2points
9- Established Bank of France to centralize finance
Exercised state's control over the clergy 2Score — 2points



Farmers were made the owners of land
Formed 'sinking fund' with the aim to avoid public debt
Constructed several roads for transportation
10- Need not to wait in government offices for services.
Can receive service with the help of information

technology. 3Score — 3points
Government services offered speedily and with less
expense.

Efficiency of the offices and quality of the
service get enhanced
11- 180° longitude - The line is so arranged as to avoid some of
the islands to the south of the Bering Strait in the Pacific
Ocean.The travellers who cross this line from the east
calculate time by advancing one day and those who cross the
line from the west deduct one day. This imaginary line is
known as the International Date Line 3Score — points
12- The atmospheric pressure and the altitude,temperature,
humidity are inversely 3Score — 3points
proportional.
The atmospheric pressure decreases with altitude.
The atmospheric pressure decreases as the temperature
increases and vice versa.
If the quantity of water vapour is more in a unit volume of air,
then naturally the atmospheric pressure will be less.
13- « Pressure gradient force ¢ Coriolis force ¢ Friction 3Score
14- Failure in bringing about changes in economic sector
Over importance to defence 3Score
Regulation on freedom of expression and opinion
Corruption and inefficiency of the bureaucracy.
The administrative measures of Mikhail Gorbachev (Glasnost
and Perestroika)
15- Opposition to socialism, Glorifying the nation, Military
dictatorship, Destruction of political rivals, Diffusion of
aggressive nationalism, Justifying war  3Score



16- Took away gold, silver etc. from the Latin American
mines 3Score — 3points

Never allowed the people of the colonies to engage in trade
with countries other than Spain

The things produced in Spain were not permitted to be
produced in the colonies

People had to work in hazardous environment in mines
without any safety measures

Enslaved the natives to work in plantations

New diseases spread from the Europeans to the Latin
American people. Racial discrimination towards the people of
the colonies was enforced in all walks of life.

17- A -Bahadur Shah IT 4 Score

B - Jhansi
C - Begum Hazret Mahal
D — Kanpur

18- Trade winds — ITCZ 4 Score

Westerlies - Roaring Forties

Monsoon winds - periodic winds

local wind — Loo
Answer an ions from 19 to 26 Each carries 4
19- Public Administration is concerned with the administration of the
government - Gladden
Public administration is the effective utilization of men and materials
for the implementation of existing laws, governmental policies,
programmes and developmental projects.
Democratic administration function for the welfare of the people.
Formulate governmental policies, Ensure welfare of the people,
Provide goods and services, Find out solutions to public issues.
4 Score
20- South west monsoon winds 1+3 Score

Sun's rays fall vertically to the north of the Equator during
certain months due to the tilt of the earth's axis. This leads to
an increase in temperature along the region through which
Tropic of Cancer passes. The pressure belts also shift slightly
northwards in accordance with this. The south east trade winds also



cross the equator and moves towards the north as the Inter Tropical
Convergence Zone (ITCZ) moves northwards during the summer in
the northern hemisphere. As the trade winds cross the Equator they
get deflected and transform into south west monsoon winds under the
influence of the Coriolis effect. The low pressure formed over the land
due to the intense day temperature attracts these sea winds and
further contributes to the formation of the south west monsoon winds.
21- During the day time the air in the valley gets heated up more than
the air on the mountain tops. As a result, the wind blows upslope from
the valley. This is known as valley breeze.

But during night the air in the mountainous regions cools due to the
intense cold conditions in that region. As cool air is denser, it blows

towards the valley. This is known as mountain breeze.
4 Score
22- * Individuals take efforts to develop their own skills.
e Family creates an environment for the development of the
potential of individuals.
e Various institutions and agencies provide facilities for
education and training.
 Nation provides the necessary facilities for its people to
develop their skills. 4 Score
23- Lokpal and Lokayukta are institutions constituted to
prevent corruption at administrative, bureaucratic and
political levels. The institution constituted at the national level
to prevent corruption is Lokpal. Lokpal has the power to
register cases on issues of corruption against employees and
public workers and can suggest necessary actions. Lokayukta
is the institution constituted at the state level to hear the
corruption cases. Both of them follow judicial procedures. 4 Score
24- Improves the skills of individuals 4 Score
Betters the technological know — how
Helps to secure better job and income ue
Improves the standard of living
25- A-90/15=6 hrs ( 10am — 6 = 4am ) 4am 4 Score
B - 120/15= 8 hrs ( 10am + 8 = 6 pm) 6pm
26- Moroccan Crisis 4 Score



A secret treaty was signed between Britain and France in 1904.
According to this Britain recognized the claim of France over
Morocco. The French claim over Morocco was opposed by Germany
which sent battleships to the Moroccan port, Agadir. France agreed to
transfer a part of French Congo to Germany and Germany agreed to
concede Morocco to France in return. Thus the problem was solved
temporarily. However, their rivalry continued.

Balkan Crisis

The Balkan region is situated in Europe, close to the Aegean Sea
and the Black Sea. It was a part of the Ottoman Empire. In 1912,
Balkan League (Greece, Bulgaria, Serbia and
Montenegro) defeated Turkey. However, the conflict among the allied
nations in sharing the benefits of war led to the break-up of the
League and resulted in wars among them.
27-Rulers were squanders, Autocratic rule, Starvation and poverty of
people were ignored, The divine right theory was
followed by the kings
This situation was the result of the social and economic inequality that
existed in France. The French society was divided into three strata and
they were known as the Estates.
The clergy (first ), The nobles (second )' The third (traders, money
lenders, officials, doctors, teachers, etc
Montesquieu , Voltaire , Rousseau 6 -Score

OR

February Revolution
Duma. Tsar decided to participate in the First World War, soldiers
were killed in this war. Food shortage, women marched, workers
organized protest march in Petrograd, The workers captured
Petrograd and Nicholas IT was thrown out of power. A provisional
government was formed under Alexander Kerensky, the Menshevik
leader.
October Revolution
In October 1917, the Bolsheviks organized an armed rebellion against
the provisional government. Kerensky fled from the country and
Russia came under the control of the Bolsheviks. This event, through
which the Bolsheviks attained power, is known as the October
Revolution (as per Russian Calendar)
28 -Spring, Summer, autumn & winter

Spring is the season of transition from winter to summer. Autumn

ucC



marks the transition from the severity of summer towards winter.

The apparent Seasons
Months movement of the sun Northern Southern
hemisphere hemisphere
From March 21 to  |From the Equator to the Tropic  Spring Autumn
June 21 of Cancer
From June 21 to From the Tropic of Cancer Summer Winter
September 23 to the Equator
From September 23 |From the Equator to the Autumn Spring
to December 22 Tropic of Capricon
From December 22 |From the Tropic of Capricon Winter Summer
to March 21 to the Equator
OR 6 Score
Days Peculiarity
Equator March 21 Equinoxes
September 23 The length of day and
night will be
equal
Tropic of cancer June 21 The summer solstice
The longest day in the
northern hemisphere and
the longest night in the
southern hemisphere.
Tropic of Capricorn December 22 The winter solstice
The longest day in the
southern
hemisphere and the
longest night in the
northern hemisphere.
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